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BEDREL Fa 1.0 1
BEYIELT F2 1.0 1
ot MR LBIRINE | S AFHEEY) . BMIE T m3 34.4 34
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IiE | #a7 & B | ®E |FLHB=E| BE
fRET =X 1.0 1
ITERERT =X 1.0 1
ITEREmELT m3 333.8 330| F®E-#WE
R FI W=3.0m (RC-40,t=10cm) m 101.4 101 HE-#E
TE-REIT = 1.0 1
KEEDS S 35.0 35| #E-BE WA
fRKEET =X 1.0 1
Ei—LE ¢ 1000 m 7.3 7| BE-BE
A (RE 2 D) T m3 106.9 107
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m o |tmE| N”T‘ iEC N@ F‘C o= TE|m| & W |tE| ¢ | BEHuE| N c | =
EEERT
T# | 09 280 252 244 220 252 - 220 = 32 (C) FET
280 - 244 = 36 (N) RiEZL T® | 09 40 36 32
=] 1.15 0 0 0 0 0-0=0(C) =] 1.15 0 0 0
0-0=0(N) HE Hll T® | 09 150 154 139
=] 1.15 0 0 0
%I
T8 | 09 0 0 0 0 0-0=0(C) g 190 171
0-0=0(N)
= | 1.15 0 0 0 0 0-0=0() WEL
0-0=0(N) Bt T® | 09 0 0 0
i 0 0
252 — 220 = 32 (C)
& | 09 280 252 244 220
- 280 — 244 = 36 (N)
A - 0-0=0(C)
= e 0 0 0 0 0-0=0N) Bt 190 190 171




AT £itE

BSEHE B E & iH % NO.
4 o R =1 = B {5 o=
{EHIT
= 1.0
fEH
T® m3 153.6




HETHEHESE

PEEI ()

B oA En ma ik
(m) Wr @ T 15 B E
NO. 2 6.1
NO. 3 20.000 3.1 4.60 92.0
NO. 4 20.000 1.9 2.50 50.0
NO. 4 3.380]  3.400 1.9 1.90 6.5
NO. 4 3.680]  0.300 2.0 1.95 0.6
NO. 4 3.680 0.4 1.20 0.0
NO. 4 10.000]  6.300 0.4 0.40 2.5
NO. 4 15070 5.100 0.4 0.40 2.0
Gl 55.100 153.6
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4 o R =1 = B {5 o=

1ExxXT

= 1.0
FRIEY
T® m3 283.9
BRL
BAIEREIE ML EAmEE m3 172.5
BERL
RANERIBImER m3 48.1
avyyy—wJovs T

= 1.0
GEPIEDL
%t % 35cm (FAE) m?2 199.1
=8N )
RC-40 m3 104.0
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- FRIEY (£8) BRL(HEAEREImU E4mERE) | BRLU(GEKIERBImKE)
B:l| =4 L m3 m3 m3 -E3
(m) Wr @ T 1y HE o] T 1y H E o] T 1y HE
NO. 2 4.5 2.5 1.1

NO. 3 20.000 6.8 5.65 113.0 3.9 3.20 64.0 1.0 1.05 21.0
NO. 4 20.000 7.5 7.15 143.0 5.1 4.50 90.0 1.0 1.00 20.0
NO. 4 + 3.380 3.400 7.5 7.50 25.5 5.1 5.10 17.3 1.0 1.00 3.4
NO. 4 + 3.680 0.300 8.4 7.95 2.4 3.0 4.05 1.2 1.0 1.00 0.3
NO. 4 + 3.680 0.0 4.20 0.0 0.0 1.50 0.0 0.3 0.65 0.0
NO. 4 + 10.000 6.300 0.0 0.00 0.0 0.0 0.00 0.0 0.3 0.30 1.9
NO. 4 + 15070 5.100 0.0 0.00 0.0 0.0 0.00 0.0 0.3 0.30 1.5
& 55.100 283.9 172.5 48.1
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=AM
RC-40 SEHEELY = 104.00 m3 104.0
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C2 N S &t =1 = -l v #H=E
avol)—k
0 28=18N/mm2 (0.717+0.767) /2 X 0.100 X 10.0 = 0.742 m3 0.74
Ep e
INRUEEY 0.100 x (1.118+1.000) X 10.0 = 2118 m2 212
B #h#f
FEHMEYE t=10mm]0.742/10.0 =  0.074 m2 0.07
BIER
No.2~No.4+3.3843F m 43.7
i m 43.7
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SHEE L =2 H E £ NO.
330 100
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C2 N S &t =1 = -l v #H=E
avol)—k
0 28=18N/mm?2 (0.250 X 0.430-1/2 % 0.330 X 0.150) X 10.0 = 0828 m3 0.83
Bl
INRUEEY (0.250+0.100) x 10.0 = 3500 m2 3.50
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1.0 fTHY
C2 N S &t =1 = B ff #H=E
av91)—k ((0.717+0.841)/2 x 1.240 x 0.300+(0.841+1.210+1.675) /2 X
0 28=18N/mm2 3.010) X 0.300 = 1.97 m3 2.0
pidy oA (0.717+0.841)/2 X 1.240 X 2+1.118 X 1.240 X 0.300+
INEVREEYD (0.841+1.210+1.675) /2 x 3.010 X 2+1.044 x 3.010 %X 0.300 = 1451 m2 14.5
BIET (0.717+0.841)/2 x 1.240 x 2+(0.841+1.210+1.675) /2 X 3.010
R 5 X 2 = 1315 #hm?2 13.2
BizT
HEER RIS 1.240 X 1.118 X 0.300+3.010 X 1.044 x 0.300 = 1.36 #hm2 14
I ERT
No.4+31s 35k EAT 1.0
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woa | | o |PORE| RE | PeRel mm |,
(m) (m) (m) (m) (m) (m2)
NO. 2 4.810
NO. 3 20.300 20.100 20.200 4.580 4.695 94.84
NO. 4 20.000 20.000 20.000 4.360 4.470 89.40
NO. 4 + 3.380 3.400 3.400 3.400 4.360 4.360 14.82

op
nQ

" 43.6 199.06
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- EARE
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m [ FE | T8 %E
NO. 2 2.6
NO. 3 20.200 2.4 2.50 50.5
NO. 4 20.000 2.2 2.30 46.0
NO. 4 3.380 3.400 2.2 2.20 7.5
AN
A 43.600 104.0
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0 28=18N/mm?2 0.150 X 0.500 X 10.0 0.750 m3 0.75
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INRUEEY 0.500 X 2 X 10.0 10.000 m2 10.00
EHEH
RC-40 t=100mm 0.250 X 10.0 2.500 m2 2.50
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FEH#EYE t=10mm]0.750/10.0 0.075 m2 0.08
BIER
No.1+19.67 ~No4+3.68{F 3 m 441
No.4+3.68 ~No.4+15.074F 3k m 115
m 55.6
HEEIE
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S
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avyl)—k
0 28=18N/mm?2 0.100x 10.0 = 1.000 m3 1.00
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FELEE
m2 2.3




BEYRET

BSEHE B E & iH % NO.
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B a9 —bMEEMEURL
Hl =1 m3 -t
(m) Wr I M 2

NO. 2 1.1
NO. 3 20.000 0.7 0.90 18.0
NO. 4 20.000 0.7 0.70 14.0
NO. 4 + 3.380 3.400 0.7 0.70 2.4

& =

B A 43.400 34.4
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BSEHE B E & iH % NO.
4 o R =1 = B {5 o=

ITEMERT

= 1.0
ITEREREL

m3 333.8
BRhF|
W=3.0m(RC-40,t=10cm) m 101.4
TB-RHUIT

= 1.0
KE+DS

= 35.0
KT

= 1.0
Eai—LE
¢ 1000 m 7.3
{EHI GEEZ )

m3 106.9
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(m) B M E B # =
NO.1 + 4360 3.6
NO.1 +  9000] 5100 3.6 3.60 18.4
ERER
NO. 2 11.100 35 355 39.4 TERE
NO. 3 20.000 27 3.10 62.0 MR
NO. 4 20.000 26 265 53.0
NO.4 + 10000 10000 26 2,60 26.0
NO.4 + 15000/ 5000 26 2,60 13.0
INET 211.8
TEWTER 5.6
NO.1 + 13300 17.500 17 3.65 63.9 INEF 63.9
NO.1 +  13.300 17
NO. 2 6.700 5.6 3.65 245
NO.2 + 4000 4000 5.6 5.60 224
NO.2 + 8000 4000 00 2.80 11.2 INEF 58.1
& 103.400 3338
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IERER L=71.2n
ABLD5 N-35%
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{RABT (BA#ET) L=49.2n V=106.9m3 FEANHET (Ea—L%) 2
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1.0y

%o R A
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g

L 72

#wE

A F REER

W=3.0m (RG-40,t=10cm) [71.2+17.5+(6.7+4.0+4.0/2) = 10140 m 1014
REEE
101.4%3.0 = 30420 m2 304.2
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— AR ER 25.40/1.10 = 23.0
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T EHER (EEER)
4000
500, 3000 500
V54,700 N &
TR I‘—YA’;I/ \if’:)(—,l
1/96%2 f (35 A bk 41 FR)
| RN | RN -
REEKE (Ea—LE)
61000 L=7.3m
1.08 Y
% - Tt & =R B G 2
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(m) Wr Do o) o=
T ik 2.8
NO. -1 + 5.000] 10.800 2.8 2.80 30.2
NO. -1 + 12500 8.100 2.4 2.60 211 BETHLE
O s BB
NO. 0 7.700 1.8 2.10 16.2
NO. 1 19.400 1.7 1.75 34.0
LR 3.200 1.7 1.70 5.4
Gl 49.200 106.9




